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QUESTION 1

When creating a new business object for a service point (SP), what items are required to be able to view and update the
new elements associated with the SP? 

A. Maintenance Object, Application Service, and Schema 

B. Schema, Validation Algorithm, and Maintenance UI Map 

C. Display UI Map, Display Map Service Script, and Maintenance UI Map 

D. Validation Algorithm, Post Processing Algorithm, and Lifecycle 

Correct Answer: A 

 

QUESTION 2

Which statement correctly describes the relation between a device and a measuring component? 

A. A device configuration links a device only to interval channels. 

B. Two measuring components on the same device should have the same Units of Measure (UOM). 

C. A device should have only one measuring component type. 

D. A device can have any combination of interval and/or scalar measuring components. 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E26671_02/PDF/E18186_05.pdf (33) 

 

QUESTION 3

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 

 

QUESTION 4

A Service Order Orchestrator determines the steps required to complete the service. 
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As an example, based on the state of the service point, what does the Enable Service Orchestrator determine the
actions for? 

A. Create a Device Configuration; Install a Device; Turn on the Device 

B. Connect the Service Point; Install a Device; Create a Usage Subscription 

C. Create a Service Point; Install a Device; Turn on the Device 

D. Connect the Service Point; Install a Device; Turn on the Device 

Correct Answer: C 

 

QUESTION 5

How should you configure the derived values that are relevant for a device? 

A. Configure the derived values on the Measuring Component for the measuring components to be defined on the
device. 

B. Configure the derived values on the Measuring Component Type for the measuring components to be defined on the
device. 

C. Configure the derived values on the Device Type for the derived values to be defined on the device. 

D. Configure the derived values on the Final Measurement Type for the measuring components to be defined on the
device. 

Correct Answer: D 
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